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F/3-D22, dt=60mm, d=540mm, j=473mm
4000 My=0.9*at*ft*d=0.9*1161*1.1*345*540=214kNm
| “1.000e AHLEBE
SRR ARRNZEE 1.00
7.9.1.2. RCIE REAIMORER(GEH)
(B 1F/ X2/Y2 ‘ Fc 24
Al R | A k| bLb2 | balba2 | bjbb | DQAj | =X | HL LR ‘ MyL,R ‘ £,ZMy/j | QDEF | QDjL,2 \ QDjREL | #IE
1.00 150 75 550 700 4000 473 214 0.14 68 782 538
X +EO oK
10.00 150 75 400 2291 5000 473 214 907 104 538 0.23
1.00 150 75 550 700 4000 473 214 0.14 68 782 538
Y I +E90 oK
10.00 150 75 400 2291 5000 473 214 907 104 538 0.23
-

QDj1=a * X (My/j)*(1- £ )=1.00%906.7*(1-0.14)=782kN
QDj2= o *QD*(1- £ )/ £ =1.00*86*(1-0.14)/0.14=538kN

¥ (My/j)=214*10"3/473+214*10"3/473=906.7kN
& =j/(H*(1-(D/L)))=473/(4000*(1-(700/5000)))=0.14

HETABAMDETERIC, 1.0050EERAEEINET,

] QDj=min(QDj1, QDj2)=min(782, 538)=538kN

QD=(68+104)/2=86kN --- (FtEZE [7.5.1.2 HOMERER] ICRRI NI FZAREARKND)
S8 HERRE [8.3.1 BHIEARKHICHT 2157
|
“150°e AHDLEBA
ERETRRT AR O ZIEE 1.50
fivar=S 1F/ X2/Y2 ‘ Fc 24
# |74k | A x| bLb2 |balbaz | bibb ‘ DA #—=x | HL | LR | MLR | &.zvyi | Q0T | bz | opimek | s
1.00 150 75 550 700 4000 473 214 0.14 68 1173 807
X + +E0 OK
10.00 150 75 400 2291 5000 473 214 907 104 807 0.35
1.00 150 75 550 700 4000 473 214 0.14 68 1173 807
Y + +E90 OK
10.00 150 75 400 2291 5000 473 214 907 104 807 0.35

HETHABAMDETERIC, 1.50E0EERAEREINET,

QDj1=a * X (My/j)*(1- £ )=1.50%906.7*(1-0.14)=1173kN
QDj2= o *QD*(1- £ )/ £ =1.50*86*(1-0.14)/0.14=807kN

] QDj=min(Qbj1, QDj2)=min(1173, 807)=807kN
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